Get out your homework from yesterday and start checking your answers.
Test on FRIDAY!

Classwork - Test Review (Word Problems)

1) Simplifving Expressions Simplify the following expressions by combining like terms and using the

distributive property. —
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3) Solve the following equations. Simplify the equations BEFORE solving if needed. Make sure to show
inverse operations on BOTH sides and WORK DOWN. SHOW ALL WORK.
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4) Solve the following equations. Make sure to COMPLETELY simplify BOTH the equations BRBEFORE
solving. Make sure to show inverse operations on BOTH sides and WORK DOWN. SHOW ALL WORK
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One Solution Infinite Solutions No Solutions
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Solving Incqualitics

5) Solve and graph the following inequalitics. We use the same steps (inverse operations) to solve inequalities
that we use when solving equations. REMEMBER = When you multiply or divide both sides by a negative
number when using inverse operations you flip the inequality sign!
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Write and solve an equation for the following situations. SHOW WORK

1) Erin has saved 5725 for a new guitar and lessons. Her guitar costs 5475, and guitar lessons are 525 per
hour. Determine how many hours of lessons she can afford.
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2) From the ground level to the tip of the torch, the Statue of Liberty and its pedestal are 92.99 meters tall
The pedestal is 0.89 meters taller than the statue. How tall‘slhe Statue of Liberty?
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3) Colby worked three more hours on Tuesday than he did on Monday. On Wednesday, he worked one
hour more than twice the number of hours that he worked on Monday. If the totaFmumber of hours is two
more than five times the number of hours worked on Monday, how many hours did he work on Monday?
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4) Deanna and Lisa are playing games at the arcade. Deanna started with 515, and the machine she is
playing costs $0.75 per game. Lisa started with 513, and her machine costs $0.50 per game. After how
many games will the two girls have the same amount of money remaining?
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5) The Wayside Hotel charges its guests 51 plus $0.80 per minute for long distance calls. Across the street,
the Blue Sky Hotel charges its guests 52 plus 50.75 per minute for long distance calls. Find the length of a
call for which the two hotels charge the same amount.
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6) Duke is a part-time student at Horizon Community College. He currently has 22 credits, and he plans to
take 6 credits per semester until he is finished. Duke’s friend Kila is also a student at the college. She has 4
credits and plans to take 12 credits per semester. After how many semesters will Duke and Kila have the
same number of credits?
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